Goteborgs BF
Paul Jones - Omgang 2

Partavling, 36 bord, 72 par. Antal brickor: 14. Medel: 489.5.

Plac

118

122

130
28

Poang

694.7
653.8
644.8
642.9
641.8
628.4
625.2
618.3
614.0
612.6
606.8
606.0
605.8
504.1
593.4
589.2
580.7
579.2
578.8
577.6
563.8
560.2
559.6
547.1
542.3
540.2
535.0
527.9
522.8
517.8
515.6
506.1
493.2
493.2
491.4
488.4
486.9
485.8
483.4
482.6
474.7
4741
461.4
457.8
456.2
456.2
455.2
437.3
431.2
430.6
420.5
420.5
419.8
415.9
412.4
406.2
406.2
405.8
399.1
397.2
395.3
389.6
382.9
344.8
343.4
333.0
311.6
311.2
302.9
301.7
297.8
261.1

%

70.89
66.71
65.80
65.60
65.49
64.13
63.80
63.10
62.65
62.51
61.92
61.84
61.82
60.62
60.55
60.12
59.25
59.10
59.06
58.94
57.53
57.16
57.10
55.83
55.33
55.13
54.59
53.87
53.35
52.84
52.62
51.64
50.33
50.33
50.15
49.84
49.69
49.57
49.33
49.24
48.44
48.38
47.08
46.71
46.55
46.55
46.45
44.63
44.00
43.94
42.91
42.91
42.84
42.44
42.08
41.45
41.45
41.41
40.72
40.53
40.34
39.75
39.07
35.18
35.04
33.98
31.80
31.76
30.91
30.78
30.39
26.64

Namn

Bo Roos - Lena Johansson

Jan Ahlqyvist - Ella Olsson

Joakim Olsson - Terje Lie

Anders Vage - Anders Ihalainen

Bjorn Sorling - Leif Johansson

Kristina Bergman - Lars Hogblom
Tommy Gunnarsson - Nils Ahlén
Sdren Lennartsson - Carl Ek

Gerhard Jorgensen - Johan Svensson
Anders Brunzell - Jan-Erik Asmo
Goran Selldén - Ronny Ovesson Ejnell
Denny Andréasson - Tore Mattsson
Vivianne Norling - Par Ljungquist

Kjell Evensen - Adam Kovasznay
Thomas Therkelson - May Moore
Fredrik Norling - Gunnar Ohlson

Mats Jakobsson - Tony Elmroth
Lars-Ake Gustafsson - Jan Troberg
Agneta Persson - Sven Nilsson
Tobias Bende - Linnea Edlund

Gert Lundqvist - Johan Gromark

Leif Axelsson - Ann-Sofie Axelsson
Jan-Inge Troedsson - Kenneth Johansson
Jorgen Neldemo - Eva Gunnarsson
Ingvar Grahn - Karin Nyberg

Ulla Berntsson - Goran Rydell
Christina Molin Chronberg - Elisabeth Samfelt
Jan Andersson - Paul Jigberg

Sara Wrige - la Borling

Anne-Marie Johansson - Mile Calic
Daniel Svensson - Henrik Johansson
Hans-Goran Larsson - Ove Olsson
Kjell Chronberg - Leif Julin

Tommy Somlo - Patrik Clevstrom

Britt Larsson - Sven Olof Jern

Robert Back - Lena Petersen
Marie-Louise Landelius - Folke Grauers
Stefan Corneliusson - Annika Corneliusson
Borje Brag - Oscar Hult

Erling Ohlsson - Kenneth Svensson
Ragnar Andersson - Sverker Alfredsson
Ann De Silva - Ann Bergstrom

Bengt Anderson - Marie Myrhage
Lotta Konradsson - Kerstin Olausson
Emil Vall - Marianne Fagerby

Svavar Hauksson - Alf Bérjesson

Bo Svensson - Klas-Géran Lundin
Hans Linusson - Annika Wallén
Karl-Eric Nilsson - Géran Ostberg

Ulla Liedholm - Britta Nilsson
Elizabeth Ewreskar - Kent Josefsson
Jan Erixon - Sven-Olof Jarkvist

Per Sintorn - Nils Svensson

Peter Nyberg - Bo Andersson

Jan Konar - Mats Allgéwer

Hans Eriksson - Matti Lepist6

Nils Nordahl - Lars Hansson

Eric Skoog - Birgitta Norsted

Rolf Ewreskar - Barbro Josefsson
Inga-Lill Stenberg - Lars-Goran Holberg
Ake Ekener - Marie Ekelund

Goran Karlander - Jan Sager
Flemming Rasmussen - Lillemor Walting
Brita HOk - Birgit Petersen

Wiola Rasmussen - Bertie Walting
Elsa Rosenblad - Ulla Holmer

Lena | Nilsson - Bertil Hultman
Stephen Cronberg - Dag Kéllfelt

Anna Wallgren - Jan Vinang

Gertrud Bohlin - Bérje Skoog

Anders Simonsson - Anita Lansvik
Annica Lundqvist - Mahin Pettersson

13691
10458
80478
50378
80438
28393
10295
9338
12288
12576
4863
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88947
11738
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43624
1706
13420
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21490
18661
26744
41600
12620
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26725
52893
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35629
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9717
4844
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59083
38622
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29940
4565
41406
87017
43315
25447
26135
56420
27456

MID

15309
20412
5024
4892
18448
28397
1169
5294
11900
2970
2489
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13363
50874
4867
5078
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4845
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34773
11851
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12598
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13057
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84874
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55679
27490
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15 & Kn6 16 & K53 17 a2
Syd v972 Vast v KKn872 Nord v EK962
NS ¢ EKD1043 oV + K10 Ingen ¢+ EKn64
63 #K65 #«DKn8
4109752 &D843 4E109 4D86 & Kn97 10865
v3 v K1064 vD6543 vE9 v Kn7 v D8543
+ 876 +95 ¢ E5 + DKn974 + 1032 + D85
#KKn104 #975 #3843 &DKn9 #K10954 &6
& EK & Kn742 « EKD43
v EDKn85 v10 v10
¢ Kn2 + 8632 ¢ K97
#ED82 #E1072 &E732
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
135 116 6v S+1 ¢5 1460 70.0 0.0(129 122 1vyDN+1 #Q 260 70.0 00| 20 33 3NS+3 &9 490 65.0 5.0
5 11 6NS= T 1440 61.0 9.0|101 115 2¢ O-2 vT 200 66.0 40| 36 9 3NS+3 +v6 490 65.0 5.0
7 9 BNS= T 1440 61.0 9.0|113 103 2NV -2 v7 200 66.0 4.0|101 117 3NN+3 ¢5 490 65.0 5.0
10 6 B6NS= 3 1440 61.0 9.0|117 134 3NV -2 v2 200 66.0 4.0|112 106 3NS+3 &6 490 65.0 5.0
20 31 6NS= T 1440 61.0 9.0|133 118 1v N+2 &Q 140 62.0 8.0|114 104 3NN+3 ¢5 490 65.0 5.0
21 30 6NS= T 1440 61.0 90| 12 4 2v N= *Q 110 57.0 13.0|131 122 3NS+3 &4 490 65.0 5.0
27 24 6NS= 3 1440 61.0 9.0|108 136 24 S= A 110 57.0 13.0 4 14 3NS+2 2 460 450 25.0
36 8 B6NS= T 1440 61.0 9.0|111 105 1v N+1 ¢Q 110 57.0 13.0 8 10 3NN+2 &6 460 450 25.0
133 118 6N S = 42 1440 61.0 9.0(123 128 24 S= A 110 570 13.0| 11 7 3NN+2 &6 460 450 25.0
26 25 6y S= T 1430 46.0 240 10 6 2¢ O-1 vT 100 46.0 240(| 16 2 3NS+2 &4 460 450 25.0
101 115 6v S= 2 1430 46.0 24.0( 20 31 2¢ O-1 vT 100 46.0 24.0(| 21 32 3NN+2 &6 460 450 25.0
108 136 6¥ S= 42 1430 46.0 24.0| 26 25 2NV-1 v7 100 46.0 24.0( 29 24 3NN+2 %6 460 450 25.0
111 105 6¥ S= T 1430 46.0 240| 28 23 3NV-1 &5 100 46.0 24.0| 35 18 3NN+2 ¢5 460 450 25.0
113 103 6v S= 5 1430 46.0 240 34 17 2¢ O-1 vT 100 46.0 24.0 (105 113 3NN +2 &5 460 450 25.0
124 127 6v S= T 1430 46.0 240 36 8 2¢ O-1 vT 100 46.0 24.0 (107 111 3NN+2 48 460 450 25.0
129 122 6v S= T 1430 46.0 24.0 (124 127 2NV -1 v7 100 46.0 24.0 (109 136 3NS+2 &5 460 450 25.0
104 112 6¢ N+1 ¢9 1390 38.0 32.0|114 102 1v N= a4 80 38.0 32.0|110 108 3NN+2 &6 460 450 25.0
132 119 5N S+1 oT 690 36.0 34.0 3 13 24 S-1 A -50 31.0 39.0|118 135 3NN+2 5 460 450 25.0
123 128 4v S+2 &T 680 34.0 36.0 7 9 24 S-1 A -50 31.0 39.0|132 121 3NN+2 %6 460 450 25.0
18 33 3NS+2 T 660 31.0 39.0| 22 29 1v N-1 +Q -50 31.0 39.0|133 120 3NN +2 %6 460 450 25.0
106 110 3NS+2 oT 660 31.0 39.0|104 112 24 S-1 A -50 31.0 39.0 3 15 3NN+1 &5 430 20.0 50.0
2 14 49 S+1 46 650 26.0 44.0|106 110 2v N-1 *2 -50 31.0 39.0 6 12 3NS+1 &9 430 20.0 50.0
12 4 5v S= 46 650 26.0 44.0|135 116 INN-1 +Q -50 31.0 39.0| 13 5 3NN+1 6 430 20.0 50.0
15 1 4v S+1 o7 650 26.0 44.0 5 11 INV= 43 90 21.0 49.0| 17 1 3NS+1 #4 430 20.0 50.0
16 35 4v S= oT 620 20.0 50.0| 16 35 2¢ O= vT 90 21.0 49.0| 22 31 3NS+1 &4 430 20.0 50.0
109 107 4v S= T 620 20.0 50.0|109 107 1INV = v8 90 21.0 49.0| 28 25 3NS+1 &5 430 20.0 50.0
117 134 4v S= T 620 20.0 50.0125 126 2¢ O= vT -90 21.0 49.0|102 116 3NN+1 %6 430 20.0 50.0
3 13 6v S-1 oT -100 12.0 58.0 2 14 INN-2 +Q -100 13.0 57.0(115 103 3NS+1 4 430 20.0 50.0
19 32 6NS-1 T -100 120 58.0( 21 30 INN-2 *2 -100 13.0 57.0(124 129 3NN+1 &4 430 20.0 50.0
28 23 6NN-1 &5 -100 12.0 58.0| 27 24 1INN-2 &3 -100 13.0 57.0(125 128 3NN+1 46 430 20.0 50.0
34 17 6v S-1 a2 -100 12.0 58.0 (131 120 1NN -2 +Q -100 13.0 57.0(130 123 3NN+1 %6 430 20.0 50.0
125 126 6v S-1 T -100 12.0 58.0| 15 1 INV+1 v7 -120 6.0 64.0| 23 30 44 S= vlJ 420 8.0 62.0
22 29 6v S-2 T -200 40 66.0( 19 32 2NO= a4 -120 6.0 64.0 (134 119 3NN= v3 400 6.0 64.0
114 102 6v S-2 46 -200 4.0 66.0 (132 119 INV+1l +¢K -120 6.0 64.0( 19 34 6NS-2 &4 -100 2.0 68.0
130 121 6v S-2 T -200 4.0 66.0 (130 121 2NV +1 &3 -150 2.0 68.0| 27 26 6NN-2 &3 -100 2.0 68.0
131 120 6v S-3 T -300 0.0 70.0( 18 33 INV+3 &5 -180 0.0 70.0 (126 127 6N S -2 a7 -100 2.0 68.0
18 & D52 19 & KKn74 20 « K86
Ost v 1075 Syd v 95 Vast v EK9
NS ¢+ E6 oV + 109652 Alla + Kn9863
&#KKn753 103 &Kn4
41043 #E86 «D8 «E93 sE & D9754
vK982 vEDKn v E83 v KD7642 vDKn873 v1062
+852 #K743 ¢+ KDKn8 ¢7 + E10 ¢ 752
&#ED4 #1098 #ED96  #K42 #109872 %65
& KKn97 10652 & Kn1032
v 643 vKnl10 v54
+ DKn109 ¢ E43 + KD4
»62 &#Kn875 &#EKD3
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
8 10 2NO-3 +Q 150 69.0 1.0|133 122 6v O-3 a5 300 70.0 0.0 5 15 3NN+2 v5 660 65.0 5.0
131 122 4v V-3 A 150 69.0 10| 23 32 6v0O-1 a5 100 670 30| 14 6 3NN+2 T 660 65.0 5.0
3 15 3NO-2 +Q 100 63.0 7.0(108 112 6v O-1 a5 100 67.0 3.0| 21 34 3NN+2 «4 660 65.0 5.0
27 26 2NO-2 &6 100 63.0 7.0 1 19 4v O+1 44 -650 59.0 11.0| 24 31 3NN+2 2 660 65.0 5.0
114 104 2v V-2 v5 100 63.0 7.0 7 13 4v O+1 a5 -650 59.0 11.0|103 117 3NN+2 &7 660 65.0 5.0
134 119 2NV -2 a2 100 63.0 70| 17 3 4v O+l &5 -650 59.0 11.0(110 136 3NN+2 2 660 65.0 5.0
11 7 2NO-1 +Q 50 49.0 21.0( 20 35 4v O+1 45 -650 59.0 11.0 1 19 3NN+1 2 630 46.0 24.0
22 31 2vV-1 v5 50 49.0 21.0(111 109 4v O+1 T -650 59.0 11.0 7 13 3NN+1 vT 630 46.0 24.0
23 30 2NO-1 +Q 50 49.0 21.0 (127 128 4y V+1 &5 -650 59.0 11.0( 29 26 3NN+1 T 630 46.0 24.0
35 18 2¢ O-1 +9 50 49.0 21.0 4 16 4vy V+2 &T -680 440 26.0( 30 25 3NN+1 T 630 46.0 24.0
36 9 2v0-1 v5 50 49.0 210 12 8 4vy V+2 &T -680 44.0 26.0 (108 112 3NN+1 T 630 46.0 24.0
105 113 INO-1 a7 50 49.0 210 21 34 4v V+2 o7 -680 44.0 26.0 (111 109 3NN+1 2 630 46.0 24.0
112 106 2¢ O-1 %6 50 49.0 21.0( 24 31 4vy O+2 &8 -680 44.0 26.0 (113 107 3NN+1 9 630 46.0 24.0
118 135 INO-1 a7 50 49.0 21.0( 29 26 4v V+2 T -680 44.0 26.0 (116 104 3NN+1 2 630 46.0 24.0
125 128 2v V-1 A 50 49.0 21.0(102 118 4y O+2 vJ -680 44.0 26.0 (125 130 3NN+1 T 630 46.0 24.0
130 123 2v V-1 v5 50 49.0 21.0 (103 117 4v O+2 &7 -680 44.0 26.0 (131 124 3NN+1 5 630 46.0 24.0
4 14 INO= +Q -90 25.0 45.0 (110 136 4y V+2 T -680 44.0 26.0 (132 123 3NN+1 T 630 46.0 24.0
16 2 INO= +Q 90 25.0 45.0(125 130 4v O+2 &7 -680 44.0 26.0 (133 122 3NN+1 T 630 46.0 24.0
19 34 INO= 49 90 25.0 45.0| 14 6 3NV+3 2 -690 34.0 36.0 (134 121 3NN+1 2 630 46.0 24.0
21 32 INO= +Q -90 25.0 45.0 5 15 6y V= *2 -1430 18.0 52.0 (135 120 3NN= a5 600 32.0 38.0
28 25 INO= +Q -90 25.0 450| 18 2 6vO= A -1430 18.0 52.0 (102 118 14D S+2 +A 560 30.0 40.0
101 117 INO= +Q -90 25.0 45.0| 22 33 6y O= *A -1430 18.0 52.0 9 11 2¢ N+3 &6 150 22.0 48.0
102 116 INO= +Q 90 25.0 45.0| 28 27 6v O= A -1430 18.0 52.0( 12 8 3¢ N+2 T 150 22.0 48.0
107 111 INO= +Q -90 25.0 450| 30 25 6v V= &T -1430 18.0 52.0( 17 3 3¢ N+2 T 150 22.0 48.0
110 108 INO = 49 -90 25.0 45.0|106 114 6v O = *A -1430 18.0 52.0( 22 33 3¢ N+2 &6 150 22.0 48.0
115 103 INO= +Q -90 25.0 45.0 (113 107 6v V= &T -1430 18.0 52.0( 36 10 2¢ N+3 %6 150 22.0 48.0
124 129 INO= *J -90 25.0 45.0|115 105 6v O = vJ -1430 18.0 52.0 (106 114 2¢ N+3 6 150 22.0 48.0
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126 127 INO= +Q -90 25.0 45.0|116 104 6v O = A -1430 18.0 52.0 (119 101 3¢ N+2 %6 150 22.0 48.0
132 121 INO= +Q -90 25.0 45.0|119 101 6v V= v5 -1430 18.0 52.0 (115 105 2¢ N+2 2 130 14.0 56.0
133 120 INO= +Q -90 25.0 45.0(126 129 6v O = *A -1430 18.0 52.0| 28 27 24 S= s A 110 12.0 58.0
6 12 INV+1 &3 -120 7.0 63.0(131 124 6v O= A -1430 18.0 52.0 4 16 3v V-1 &A 100 9.0 61.0
20 33 2NO= +Q -120 7.0 63.0|132 123 6v V= v9 -1430 18.0 52.0( 18 2 2y V-1 46 100 9.0 61.0
29 24 INO+1 +Q -120 7.0 63.0|134 121 6y O = *A -1430 18.0 52.0| 20 35 44 S-1 &T -100 5.0 65.0
109 136 INO+1 49 -120 7.0 63.0 (135 120 6v O = A -1430 18.0 52.0 (126 129 44 S-1 vQ -100 5.0 65.0
13 5 INO+2 ¢Q -150 2.0 68.0| 36 10 6NV= *2 -1440 2.0 68.0| 23 32 44DS-1 T -200 1.0 69.0
17 1 34DN-4 &T -1100 0.0 70.0 9 11 6y V+1l &7 -1460 0.0 70.0|127 128 44 S-2 vQ -200 1.0 69.0
21 «E10 22 #9752 23 « DKn108762
Nord v K8764 Ost v- Syd v EK6
NS + EK6 oV ¢ Kn753 Alla ¢ Kn42
#1063 &#K9743 »-
487643 &KD5 4 KKn86 «D3 &K 495
vDKnl10 vE92 vD1094 vEKG6 v 9853 v DKn72
+Knl0 432 ¢ K104 ¢ EDB862 49853 + E107
K75 &#EKN942 #Kn8 #ED5 #DKn95 #10863
& Kn92 «E104 & E43
v53 v Kn87532 v 104
+ D98754 +9 + KD6
D8 #1062 &EK742
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
29 28 44 0-3 v5 150 700 00| 15 7 64 O-1 v2 100 68.9 1.1(104 120 64 N= ¢A 1430 66.0 4.0
133 124 2NO-1 v5 50 679 21|29 28 64 O-1 a2 100 68.9 1.1]105 119 64 S= &Q 1430 66.0 4.0
5 17 24 0= v5 -90 64.8 5.2(104 118 3NO= v3 -600 64.8 5.2 (115 109 64 N= ¢A 1430 66.0 4.0
127 130 24 O = v5 -90 64.8 5.2(116 106 3NO= v5 -600 64.8 5.2|117 107 64 S= «Q 1430 66.0 4.0
13 9 3¢ S-1 &5 -100 56.6 13.4| 18 4 4v V= 49 -620 61.7 8.3(127 132 64 S= &Q 1430 66.0 4.0
21 1 3¢ S-1 &5 -100 56.6 13.4| 23 34 3NO+1 2 -630 58.7 11.3 6 18 464 N+2 v4 680 53.0 17.0
36 11 3¢ S-1 &5 -100 56.6 13.4 (107 115 3NO+1 ¥5 -630 58.7 11.3 9 15 44 N+2 49 680 53.0 17.0
103 119 1v N-1 &K -100 56.6 13.4|126 131 3NV +2 43 -660 535 165 11 13 44 S+2 ¢9 680 53.0 17.0
120 102 3¢ N-1 +3 -100 56.6 13.4|127 130 3NO+2 ¥3 -660 535 165 22 2 44 S+2 #Q 680 53.0 17.0
132 125 3¢ S-1 &K -100 56.6 13.4|128 129 3NO+2 *T -660 53.5 16.5|101 123 44 S+2 #Q 680 53.0 17.0
2 20 2#40+1 ¥5 -110 34.0 36.0 2 20 BNO+3 ¢3 -690 28.8 41.2 (102 122 54 N+1 #Q 680 53.0 17.0
6 16 3#0= v5 -110 34.0 36.0 5 17 3NO+3 43 -690 28.8 41.2|113 111 44 S+2 #Q 680 53.0 17.0
8 14 3#0= v5 -110 34.0 36.0 6 16 ASNO+3 ¢3 -690 28.8 41.2|133 126 54 S+1 v9 680 53.0 17.0
15 7 3#0= v5 -110 34.0 36.0 8 14 3NO+3 2 -690 28.8 41.2 3 21 44 S+1 &Q 650 27.0 43.0
23 34 20+1 5 -110 34.0 36.0| 19 3 3NV+3 43 -690 28.8 41.2| 14 10 54 S= v4 650 27.0 43.0
25 32 2#40+1 ¥5 -110 34.0 36.0| 21 1 3NO+3 ¥3 -690 28.8 41.2| 16 8 44 S+1 ¢5 650 27.0 43.0
31 26 2#0+1 ¥5 -110 34.0 36.0| 22 35 3NO+3 ¥5 -690 288 412 19 5 44 N+1 @7 650 27.0 43.0
101 121 24 O+1 5 -110 34.0 36.0| 24 33 3NO+3 #T -690 288 412 20 4 44 S+1 v9 650 27.0 43.0
104 118 24 O+1 ¥5 -110 34.0 36.0| 25 32 3NO+3 ¥5 -690 28.8 41.2| 23 1 54 S= *Q 650 27.0 43.0
107 115 24 V= *A -110 34.0 36.0| 36 11 3NO+3 ¥5 -690 288 412 24 35 44 N+1 vQ 650 27.0 43.0
111 136 2# O+1 v5 -110 34.0 36.0|101 121 3NO+3 +¥3 -690 28.8 41.2| 25 34 44 S+1 ¥5 650 27.0 43.0
112 110 3# O = v5 -110 34.0 36.0|103 119 3NO+3 ¢33 -690 28.8 41.2| 26 33 44 S+1 #Q 650 27.0 43.0
114 108 24 O+1 3 -110 34.0 36.0|109 113 3NO+3 v7 -690 28.8 41.2| 30 29 44 S+1 #Q 650 27.0 43.0
116 106 2# O+1 v5 -110 34.0 36.0|111 136 3NO+3 ¥3 -690 28.8 41.2| 31 28 44 N+1 &T 650 27.0 43.0
117 105 2# O+1 v5 -110 34.0 36.0|112 110 5NO+1 #7 -690 28.8 41.2|108 116 54 S= *Q 650 27.0 43.0
126 131 24 O+1 v6 -110 34.0 36.0|114 108 3NO+3 ¥5 -690 28.8 41.2 (110 114 44 S+1 8 650 27.0 43.0
19 3 240+2 ¥5 -130 13.4 56.6|117 105 3NO+3 ¥3 -690 28.8 41.2 (112 136 44 S+1 #Q 650 27.0 43.0
22 35 2#0+2 v5 -130 134 56.6|120 102 3NO+3 ¥5 -690 28.8 41.2 (128 131 44 N+1 %6 650 27.0 43.0
24 33 24 0+2 3 -130 134 56.6|132 125 3NO+3 +¥3 -690 28.8 41.2 (129 130 44 S+1 v¥5 650 27.0 43.0
128 129 2 O+2 +¢5 -130 13.4 56.6|133 124 3NO+3 #2 -690 28.8 41.2|134 125 44 S+1 &9 650 27.0 43.0
135 122 24 V+1 ¢A -140 8.3 61.7|134 123 3NO+3 ¢33 -690 28.8 41.2|135 124 44 S+1 +8 650 27.0 43.0
18 4 34 V+1l +A -170 52 648 13 9 6NO= v5 -1440 3.1 66.9 7 17 64 S-1 v5 -100 5.0 65.0
109 113 34 V+1 ¢A -170 5.2 64.8| 30 27 6NO= v3 -1440 3.1 66.9( 36 12 64 S-1 v5 -100 5.0 65.0
30 27 3¢DS-1 vQ -200 1.1 689| 31 26 6NO= v7 -1440 3.1 66.9 (118 106 64 S-1 L JO) -100 5.0 65.0
134 123 4¢ N-2 &A -200 1.1 68.9(135 122 6NO= v5 -1440 3.1 66.9 (121 103 64 N-1 A -100 5.0 65.0
10 12 A-/A+ 280 420 10 12 A-/A+ 28.0 42.0( 32 27 4v N-3 A -300 0.0 70.0
101 123 Pen/Pen 0.0 -35.0
24 4765 25 « D876 26 « D93
Vast v D9654 Nord v 973 Ost vED3
Ingen ¢ 42 oV ¢ E9%4 Alla + KD953
#Kn93 973 &74
« KD4 & E1092 & KKn3 41052 «107 & EKn4
v K87 v EKn2 vEKKn86 102 vKnl1065 v987
¢+ Kn765 ¢ K1098 +D3 41087652 + E107 + 8642
&#KD8 &75 &E102 &65 410832 &EKn5
& Kn83 4 E94 & K8652
v103 v D54 v K42
+ ED3 ¢ KKn ¢ Kn
&#E10642 &#KDKn84 #KD96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
118 106 3NV -2 v5 100 69.0 10| 33 28 3NDV-3 &7 800 7000 00| 23 3 3NS+1 vJ 630 69.0 1.0
134 125 3NV -2 v4 100 69.0 10| 20 6 2vyDV-2 &7 500 68.0 2.0|106 120 3NS+1 vJ 630 69.0 1.0
7 17 3NV-1 &3 50 59.0 11.0 7 19 3v V-3 *3 300 640 6.0| 10 16 44 S= T 620 60.0 10.0
16 8 5¢ V-1 &3 50 59.0 11.0|103 123 5¢ O-3 &K 300 640 60| 20 6 44 S= v6 620 60.0 10.0
19 5 3NV-1 &3 50 59.0 11.0|130 131 3v V-3 v3 300 640 60| 24 2 44 S= &3 620 60.0 10.0
102 122 3NV -1 &3 50 59.0 11.0| 17 9 2v V-2 a7 200 57.0 13.0|103 123 44 S= a7 620 60.0 10.0
110 114 3NV -1 &3 50 59.0 11.0|111 115 2v V-2 &3 200 57.0 13.0|111 115 44 S= vJ 620 60.0 10.0
117 107 3NV-1 &] 50 59.0 11.0|122 104 3v V-2 *A 200 57.0 13.0|113 136 44 S= a7 620 60.0 10.0
128 131 44 O-1 vT 50 59.0 11.0|135 126 3v V-2 v3 200 57.0 13.0|114 112 44 S= v6 620 60.0 10.0
129 130 3NV-1 &J 50 59.0 11.0 8 18 INS+1 8 120 46.0 24.0 (128 133 3NS= vJ 600 52.0 18.0
31 28 3¢ V+1 & -130 50.0 20.0f 23 3 INS+1 ¥vA 120 46.0 240 25 1 24 S+1 v6 140 50.0 20.0
113 111 34 O= &5 -140 48.0 22.0| 36 13 INS+1 ¥vA 120 46.0 24.0 8 18 24 S= v5 110 48.0 22.0
24 35 3NV= v5 -400 41.0 29.0(101 125 INS+1 +8 120 46.0 24.0 4 22 44 S-1 v5 -100 24.0 46.0
25 34 3NV= &3 -400 41.0 29.0 (113 136 INS+1 ¥vA 120 46.0 24.0 7 19 44 S-1 v6 -100 24.0 46.0
30 29 3NV= &J -400 41.0 29.0 (114 112 INS+1 8 120 46.0 240| 12 14 44 S-1 vJ -100 24.0 46.0
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101 123 3NV = v4 -400 41.0 29.0|118 108 INS+1 v6 120 46.0 24.0| 15 11 44 S-1 vJ] -100 24.0 46.0
127 132 3NV = v4 -400 41.0 29.0| 24 2 24 N= vT 110 38.0 32.0| 17 9 44 S-1 v] -100 24.0 46.0
133 126 3NV = *4 -400 41.0 29.0| 4 22 2v V-1 a7 100 310 39.0| 21 5 44 S-1 v6 -100 24.0 46.0
36 12 44 O= vT -420 33.0 37.0| 10 16 3¢ O-1 K 100 31.0 39.0| 26 35 44 S-1 vJ] -100 24.0 46.0
115 109 44 O= vT -420 33.0 37.0| 25 1 2vV-1 a7 100 31.0 39.0| 27 34 44 S-1 v6 -100 24.0 46.0
3 21 3NV+1 v4 -430 18.0 52.0| 27 34 2v V-1 v3 100 310 39.0| 32 29 44 S-1 vJ -100 24.0 46.0
6 18 3NV+1 v4 -430 18.0 52.0| 31 30 2v V-1 a7 100 31.0 39.0| 33 28 44 S-1 vJ] -100 24.0 46.0
9 15 3NV+1 v4 -430 18.0 52.0|106 120 3¢ O-1 4A 100 31.0 39.0| 36 13 44 S-1 v] -100 24.0 46.0
14 10 3NV+1 v4 -430 18.0 52.0| 26 35 3#S-1 vA -50 23.0 47.0(101 125 44 S-1 v6 -100 24.0 46.0
20 4 3NV+1 v5 -430 18.0 52.0|105 121 3# S-1 vA -50 23.0 47.0 (102 124 44 S-1 vJ] -100 24.0 46.0
22 2 3NV+1 v5 -430 18.0 52.0128 133 2¢ O= *K -90 20.0 50.0 (105 121 44 S-1 v] -100 24.0 46.0
23 1 3NV+1 a7 -430 18.0 52.0| 32 29 24 N-2 T -100 16.0 54.0|109 117 44 S-1 vJ -100 24.0 46.0
26 33 3NV+1 v5 -430 18.0 52.0|116 110 3#DN-1 vA -100 16.0 54.0|116 110 44 S-1 v6 -100 24.0 46.0
104 120 3NV +1 v4 -430 18.0 52.0|129 132 34#DS-1 vA -100 16.0 54.0|118 108 44 S-1 v] -100 24.0 46.0
105 119 3NV +1 ¥5 -430 18.0 52.0| 12 14 2v V= 46 -110 6.0 64.0|119 107 24 S-1 vJ -100 24.0 46.0
108 116 3NV +1 v4 -430 18.0 52.0| 15 11 2v V= *7 -110 6.0 64.0|122 104 44 S-1 vJ] -100 24.0 46.0
121 103 3NV +1 v4 -430 18.0 52.0| 21 5 2v V= 3 -110 6.0 64.0|129 132 44 S-1 v5 -100 24.0 46.0
135 124 3NV +1 v4 -430 18.0 52.0|102 124 3¢ O= &K -110 6.0 64.0|130 131 44 S-1 v6 -100 24.0 46.0
32 27 44 O+1 3 -450 4.0 66.0|109 117 2v V= 46 -110 6.0 64.0|134 127 3NS-1 vJ] -100 24.0 46.0
11 13 3NV+2 v4 -460 1.0 69.0|119 107 2¢ O+1 &K -110 6.0 64.0|135 126 44 S-1 v] -100 24.0 46.0
112 136 3NV +2 v9 -460 1.0 69.0134 127 2v O = &K -110 6.0 64.0| 31 30 44 S-2 vJ -200 0.0 70.0
27 #1063 28 « E1093
Syd v EK106 Vast v KKn87
Ingen + D64 NS ¢ E97
£964 & KKn
4875 & Kn94 46 & KD852
v3 v DKn9752 vE109653 vD2
¢ E8753 ¢ K2 + K52 + D863
#ED87 #Knl0 D105 &E4
« EKD2 & Kn74
v84 v4
¢ Kn109 ¢+ Knl104
#K532 £987632
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
114 136 4#DV -4 vK 800 70.0 0.0|123 105 4vRDV -1 #K 200 700 0.0
33 30 3¢DV-3 vA 500 68.0 2.0|117 111 24 O-3 v4 150 68.0 2.0
120 108 3vDO-2 &A 300 66.0 4.0| 11 17 3v V-2 s A 100 59.0 11.0
25 3 INN+1 v5 120 640 6.0| 13 15 4vDV-1 v7 100 59.0 11.0
106 122 24 S= v3 110 61.0 90| 22 6 24 0-2 v4 100 59.0 11.0
123 105 24 N= v3 110 61.0 9.0| 26 2 4vDO-1 +A 100 59.0 11.0
26 2 3v0-2 aA 100 57.0 13.0|104 124 4vDV-1 +A 100 59.0 11.0
129 134 3¢DV-1 43 100 57.0 13.0|106 122 24 O-2 v4 100 59.0 11.0
9 19 INN= vQ 90 46.0 24.0 (110 118 24 O-2 v4 100 59.0 11.0
13 15 INN= *+ K 90 46.0 24.0 (120 108 3vDO-1 +J 100 59.0 11.0
16 12 INN= ¢+ K 90 46.0 24.0( 34 29 4v V-1 ¢ A 50 48.0 22.0
24 4 INS= +6 90 46.0 24.0 (101 127 3v V-1 *K 50 48.0 22.0
27 1 INN= vQ 90 46.0 24.0 (135 128 2NV-1 v7 50 48.0 22.0
102 126 INS= sJ 90 46.0 240 9 19 2NN-1 vQ -100 43.0 27.0
110 118 INS= &8 90 46.0 24.0(114 136 2N N-1 48 -100 43.0 27.0
115 113 INN= *+ K 90 46.0 24.0(103 125 2v V= 49 -110 40.0 30.0
117 111 INS= +3 90 46.0 240 8 20 3vO= Ly -140 37.0 33.0
11 17 2¢ V-1 vA 50 30.0 40.0( 16 12 3v V= ¢ A -140 37.0 33.0
22 6 2¢ V-1 vA 50 30.0 40.0|131 132 3v V+1 +A -170 34.0 36.0
36 14 2¢ V-1 vA 50 30.0 400 5 23 3NN-2 45 -200 23.0 47.0
101 127 2v O-1 &A 50 30.0 400 21 7 3#4DS-1 46 -200 23.0 47.0
103 125 2v O-1 4A 50 30.0 40.0| 24 4 3NN-2 vQ -200 23.0 47.0
107 121 2¢ V-1 43 50 30.0 400 25 3 2NN-2 vQ -200 23.0 47.0
135 128 2v O-1 &A 50 30.0 400 27 1 2NN-2 +3 -200 23.0 47.0
5 23 24 S-1 v3 -50 17.0 53.0( 36 14 2NDN-1 oK -200 23.0 47.0
8 20 2NN-1 vQ -50 17.0 53.0 (102 126 3NN -2 v2 -200 23.0 47.0
28 35 INN-1 vQ -50 17.0 53.0 (107 121 2NDN-1 ¢Q -200 23.0 47.0
32 31 INS-1 *7 -50 17.0 53.0 (115 113 3NN-2 vQ -200 23.0 47.0
119 109 24 S-1 v3 -50 17.0 53.0 (119 109 3 S -2 46 -200 23.0 47.0
131 132 2NN-1 4 -50 17.0 53.0| 18 10 3NN-3 vQ -300 10.0 60.0
18 10 2N N-2 vQ -100 7.0 63.0| 33 30 2NN-3 vQ -300 10.0 60.0
34 29 2NN-2 vQ -100 7.0 63.0|129 134 44 S-3 46 -300 10.0 60.0
112 116 2NN -2 ¢+ K -100 7.0 63.0|130 133 3NN-4 vQ -400 6.0 64.0
130 133 24 S-2 v3 -100 7.0 63.0| 32 31 44DS-3 vA -800 4.0 66.0
21 7 29 0= s A -110 2.0 68.0| 28 35 54DS-5 46 -1400 1.0 69.0
104 124 3v V= 4 A -140 0.0 70.0|112 116 44DS-5 vA -1400 1.0 69.0
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